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TCRAM

RS )

Xt LR 7T
R RAT

realmCode

HuIgARHS, "N AR

typeld

SCREMARE, SRAEE:
@root="2. 16. 840. 1. 113883. 1. 3",
@extension=" POCD MT000040”

templateld

SRR S 01D, JLF@ root="
2.16.156.10011. 2. 1. 1. 72"

id

CRRK S AR, A
@root="2.16. 156. 10011. 1. 17, Tfij EAK[FIME
LA, BT id/@xtension

code

FAR UL SO 2R A, o
@code="C0052”, @codeSystem="

2.16. 156. 10011. 2. 4”7, @codeSystemName="
PAFEILE R mig R R

title

SCRSERAS, ARy AT R PRV

effectiveTime

SRS A A B ]

confidentialityCode

SO AT, Ferh g fE
@codeSystem="2. 16. 840. 1. 113883. 5. 25"

languageCode

SCRYIE S R Y, HA s E
@code="zh-CN”

setld

AT, HLLBEREIT IR HAE
ARG A

versionNumber

SCRE A S

5.2

S5&FXNE

2 58 FICR ARG B T o R R Rl R WA 3.

*3 SE5EARNFREMLAESHIBETHNN KR

TER AR

EH Y S HR

B TR IR

recordTarget

RIC AR (B HEgE
@typeCode="RCT”,
@contextControlCode="0P”

|--patientRole

HEAE, HAsaE
@classCode="PAT”

-|--id

fEBE SRR, K
@root="2.16. 156. 10011. 1. 12”7, i1
HARfg5 E T
a8

id/@extension

DEO1. 00. 010. 00
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BENMNERER, HhshEE

|--|--patient @classCode="PSN” ,
@determinerCode="INSTANCE”
BE S HIES, HhsEE
i @root="2.16.156. 10011. 1. 37, T DE02. 01. 031. 00
AARRYw*5 BT  id/@extension
i
|--|--|--name B4 DEOZ. 01. 039. 00

|--|--|--administrativeGenderCod

B, N GB/T 2261. 1 brifE
g, Hep

DEO2. 01. 040. 00

e @codeSystem="2. 16. 156. 10011. 2
3.3.4”7
DE02. 01. 026. 00/
--|--|--age W
~----ag i DE02. 01. 032. 00
A EIEE, E{E:
author @typeCode="AUT”,
@contextControlCode="0P”
time B <7 B ) DE0S. 50. 033. 00
. feEIEE, BRE1ME:
|--assigned Author , ,
@classCode="ASSIGNED
YEF IME—AR IR AF, Hrp
|--|--id @root="2.16. 156. 10011. 1. 77, Ty
BARKIZm5 BT id/@extension
|--|--assignedPerson
/-|--|--name B0 B DE02. 01. 039. 00
. R ENIME R, s E
custodian ” ”
@typeCode="CST
|--assigned Custodian G @classCode="ASSIGNED”
AR TTIGPR SCRS AR G4 10
|--|--representedCustodianOrg MW, Hrp
anization @classCode="0RG” ,

@determinerCode="INSTANCE”

SRR BIBRTT UL RRIR, o

|--[--|--id @root="2.16. 156. 10011. 1. 57, T
BARKI%% 5 BT id/@extension H
|--|]--]--name TR WL 2R
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B S, RIS SRS E A0
relatedDocnment 0. % [EATAERIRFR, BAA G FHIACSTHY
a AHRAT S, 5 T8 IR A T SO
(1) JER 46 SRS B AR ORAE 2
|--parentDocument 1.1 | A2CHY
|--|-id Lo | SRS PR IRTF
|--|--setld 0..1 | XHiFEFHIS
|--|--versionNumber 0..1 | CHRAS
componentOf L..1 | iz
|--encompassingEncounter l..1
|-- effectiveTime 1.1 | BB Ta]
|--|-- location l..1
|--|--|-- healthCareFacility 1..1 | HesHaeclassCode="SDLOC”
|--|--|]--|--serviceProviderOrga - Wik th, HreclassCode="0RG”,
nization ’ @determinerCode="INSTANCE”
~-|-|--|--|--asOrganizationPart
gi [~--asOrganizationPa 1..1 | H#E{EaeclassCode=" PART ~
o WK, HoshEE
|--|--|--|]--|--|--wholeOrganizati Yy,
1..1 | @lassCode="0RG" ,
n
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Hr i
_ i kf,éﬁ ) DEO1. 00. 026. 0
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1A H# (kg) %H

1..1 R

PREFINEE, THE AN kg

6.2.2 HEHIMEETTEAR

AR R TR AR T

x®7 EWMESETITRAR

RATR B | mm | sk | wesme | Lo
TUARRAF
component AR IERENIRTER
|--section
code AR T TR, H
displayN F1@code="8716-3",
ame @codeSystem="2. 16. 84
--code codeSyst L1 R 0. 1 113883. 6. ,1,”,
em @displayName="VITAL
codeSyst SIGNS” ,
emName @codeSystemName="L01
NC”
|--|--text N B4y
|--|--entry REZ%H
|--|--|--Observation
code o,
codeSyst @code="DE04. 10. 188. 0
em 0",
codeSyst @codeSystem="2. 16. 15 DEOA. 10. 188,
|--|--]--|--code emName 1..1 R 6.10011.2.2.17 , 00
displayN @codeSystemName="T
ame AAE BEE T H R
@displayName="{KHE
(kg) ”
R E
|--[--|--|--value xsi:type | 1..1 R @xsi:type="PQ”,
@unit=" kg”
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P28 2% H 1.1 R | X ERVE SR AT IR
R IR % H L. % R | OB AT B BR VR F) PR A0 ik

6.3.2 EREEDBITEEAR

=W 7 T T R A LRI,
9 ERETTERAMN
SR R | 2% | w B i MBS
TUIRRAT
component EREENRTR
|--section
code Hr,
displayN @code="46209-3" ,
ame @displayName="Provid
|--|--code codeSyst 1..1 R er Orders” ’,,
em @codeSystem="2. 16. 84
codeSyst 0.1.113883.6.17 ,
emName @codeSystemName="10T
NC”
|- -text PNEA
—i-entry
|--|]--]--observation
code
Tisplash H.rh@displayName="%&
e Vg RS,
@codeSystem="2. 16. 15 | DE06. 00. 286.
|--|--]--|--code codeSyst | 1..1 R ,
6.10011.2.2.1" , 00
en @codeSystemName=""T.
codeSyst e g B TEE
emName
code
displayN gAY, Horp
ame @codeSystem="2. 16. 15
|oc|-|-|-value codeSyst | 1..1 | R |6.10011.2.3.2.58" ,
em @codeSystemName="[%&
codeSyst WE R A R
emName
—i-entry
|--|--|--organizer
|--|--|--|--statusCode
|--|--|--|]--component 1..1 R
|--|--|--|--|--observation
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code ”
: H.rh@displayName="%&
displayN KT R I
ame [y%lﬁ H ﬁ}jl:,ftﬁg ’
@codeSystem="2. 16. 15 | DE06. 00. 289.
|--|--|--|--|--|--code codeSyst ”
6.10011.2.2.17 , 00
dez @codeSystemName="T.
t e — ”
codenys AAE B AR T B %
emName
code s .
; EEVE I H RS, H
displayN
1:':1
ame ”
@codeSystem="2. 16. 15
|--|--|--[--[--]--value codeSyst ”
6. 10011. 2. 3. 1. 268" ,
dez @codeSystemName="[%=
t Y N ”
coaesys U 351 I ARG
emName
|--|--|--|]--component ERUEE =
Hrp
|--|--|--|--]--observation @classCode="0BS” ,
@moodCode="RQ0”
Code Hr,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2. 17 , DEOG. 00. 288
|-=|-=[--|--[--|--code codeSyst @codeSystemName=""T . OO. .
emName ARSI TER
displayN @displayName="[% g Il
ame HWNE"
|--|-=|--|--|]--|--effective
Time
value . ‘ DE06. 00. 222.
e e B R B Tl 4 AR [R] 00
value o ‘ DEO6. 00. 219.
|-=f=-f=-}=-]--|--|--high D B ) 45 A AR 1R 00
e l-value xsi:type VR I H A BUE,
B Eexsi:type="ST”
|--|--|--|--|--|--performer PATE
. value L \ DEO6. 00. 222.
|-=|-=[-=|~=|~-|-|--time [ WE AT H 3R] 00
[o---assigne
dEntity
o -assig
nedPerson
|-=|-=|--|~-|--|--|--|--|--na PRI AT #2244 DE02. 01. 039.
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me 00
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e T 5 "
|--|-|--|--|--|--author BB L
value . \ DE06. 00. 220.
foef-[-[--[--|--|-~time PR IT 37 H I ] 00
oo----assigne
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e BE A LR 5 "
|--|-=|~-|--|--|--participan EIgEZ N, Hosg
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|-=|-=[-=|~=|~-|-|--time % W H A% H 3] 00
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@classCode="ASSIGNED
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HAZ NP ME—FRIAT,
Horp
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BT id/@extension
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|-=|--|~]-=|~-|--|]--time [ W 4% % H 3R [a] 00
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£, Mo
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L 147, i B AR 4 5
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fte, o

|-=|~=|==]--|-~|~-|--|--code @displayName="[% g HL
HE”
ool -playi
ngEntity
o2 DE02. 01. 039.
bl R | BEWHN 24
me 00
ool entryRela EIRAEEE, HAdh
I Y R2 | 1,
tionship ” ”
@typeCode="COMP
--|--|--|--|--|--|--observa .
-1 VR 1 8 4
tion
code Hr,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2. 17 ,
) DE06. 00. 179.
|--|--|-=|-=|--|-=|--]--code | codeSyst R @codeSystemName=""T2 00
emName AAE B T HR”
displayN @displayName="[%g %
ame ?E‘E’f%‘;%"’
|--|--|--|-~]--]--[--|--value | xsi:type R | EIE#IEER
|--|--|--|]--|--|--entryRela R EEHATIRE, Hrsk
tionship 4 {H@typeCode="COMP”
--|--|--|--|]--|--|--observa P
bl B4R 5 4 H
tion
code
Hr,
codeSyst @codeSystem="2. 16. 15
on 6.10011.2.2.1” ,
. DE06. 00. 290.
|--|-=|-=|==|--]--|--]--code ToSvst R @codeSystemName="_1 00
codeSys e b st — ”
N v A BRI H R,
mNam
crane @displayName="[%& g
displayN ITIRA”
ame
|-=[-=]-=|--|]--|--]--|]--value | xsi:type R BEIE AT IR
eebej - entryRela B HIERgE S, Hrh
T i R | A,
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--|--|-=|--|--|--|--observa v se e
bbbl T 4 4
tion
code Hrr,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
§ DEOL. 00. 008.
|--|-=|~-]--|-|]--|--|--code | codeSyst @codeSystemName="2 00
emName EXEISYE/ =B
displayN @displayName=""FHiFF
ame HHRg T
|-=|-=]-=|--|]--|--]--|--value | xsi:type HL 7 S H g
TS, ForhEk
[ -entryRela "
L B,
tionship » ”
@typeCode="ATND
--|--|-|--|--|--|--observa N -
|‘| -1 b5 55 %% H
tion
code
o,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
. DEOS8. 50. 056.
|--|-=|~-]--|-|]--|--|--code | codeSyst @codeSystemName="2 00
emName EXEISY - E/ T =b
displayN @displityNameZ "7
o s
|-=|-=|-=|]-=|-~]-=|]--|--value | xsi:type A5 25
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Mt R A
(ZERMMEMIR)
{EBEENE ST <l

<?xml version="1.0" encoding="UTF-8"?>
<ClinicalDocument xmlns="urn:hl7-org:v3" xmlns:mif="urn:hl7-org:v3/mif"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"
xsi:schemalocation="urn:hl7-org:v3 ..\sdschemas\SDA .xsd">
<realmCode code="CN"/>
<typeld root="2.16.840.1.113883.1.3" extension="POCD_MT000040"/>
<templateld root="2.16.156.10011.2.1.1.72"/>

<l-- XHHAKE >
<id root="2.16.156.10011.1.1" extension="RNO001"/>

<code code="C0052" codeSystem="2.16.156.10011.2.4" codeSystemName=""TF /{5 & 3L 2 R4l ik 2 "/>
<title>{3 e 2= g </title>

<l SCRHLER LI A >
<effectiveTime value="20121024154823"/>

<!--N-->
<confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" codeSystemName="Confidentiality"
displayName="1F i 1 [n] {1 2 25" />

<languageCode code="zh-CN"/>

<setld/>

<versionNumber/>

<recordTarget typeCode="RCT" contextControlCode="OP">

<patientRole classCode="PAT">

<I-{EFE5: DE01.00.014.00 @@@ZROIDHEREY >
<id root="2.16.156.10011.1.12" extension="HR201102113366666"/>
<telecom value="010-87815102"/>
<patient classCode="PSN" determinerCode="INSTANCE">

<!--REH IS bR i-->
<id root="2.16.156.10011.1.3" extension="420106201101011919"/>

<name> 51 fH ¥ </name>

17
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<administrativeGenderCode code="1" codeSystem="2.16.156.10011.2.3.3.4"
codeSystemName="4F {4 5| i %K (GB/T 2261.1) "/>
<I--N:A B IH->
<age value="10" unit="%'"/>
</patient>
<providerOrganization>
<id root="2.16.156.10011.1.5" extension="01"/>
<name>xx & Fi</name>

</providerOrganization>

</patientRole>
</recordTarget>
< CREH >

<author typeCode="AUT" contextControlCode="OP">
<I--BRWE 32 H IS [E]: DE06.00.220.00 -->
<time value="20110404"/>
<assigned Author classCode="ASSIGNED">
<id root="2.16.156.10011.1.7" extension="234234234"/>
<code displayName="[&"g /% "/>
<assignedPerson>
<name>ZF % 2f </name>
</assignedPerson>
</assignedAuthor>
</author>
<l-- ORI >
<custodian typeCode="CST">
<assignedCustodian classCode="ASSIGNED">
<representedCustodianOrganization classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.5" extension="[&J7 A HLH % 5"/>
<name>xx[% it </name>
</representedCustodianOrganization>
</assignedCustodian>

</custodian>

<|-N:2RA T, FHFRPLC\APND\XFRM-->

<relatedDocument typeCode="RPLC">
<parentDocument>
<id/>
<setld/>
<versionNumber/>
</parentDocument>

</relatedDocument>
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<SR BEST BT 23 5 BB Sl s>
<componentOf typeCode="COMP">
<l-itiz-->
<encompassingEncounter classCode="ENC" moodCode="EVN">
<code/>
<I--FRiZ I [E]-->
<effectiveTime/>
<location typeCode="LOC">
<healthCareFacility classCode="SDLOC">
<I--HLHE A >
<serviceProviderOrganization classCode="ORG" determinerCode="INSTANCE">
<asOrganizationPartOf classCode="PART">
<lPRfir >
<wholeOrganization classCode="ORG" determinerCode="INSTANCE">
<!--N:jji_LOID-->
<id root="2.16.156.10011.1.22" extension="001"/>
<name>/RH 5 : 3</name>
<1 5 5 >
<asOrganizationPartOf classCode="PART">
<wholeOrganization classCode="ORG"
determinerCode="INSTANCE">
<!--N:jji_LOID-->
<id root="2.16.156.10011.1.21" extension="001"/>
<name>Ji 5 5 : 45</name>
<! X -->
<asOrganizationPartOf classCode="PART">
<wholeOrganization classCode="ORG"
determinerCode="INSTANCE">
<!--N:jji_LOID-->
<id root="2.16.156.10011.1.27" extension="001"/>
<name>53 U35 [X </name>
<l--FpE->
<asOrganizationPartOf classCode="PART">
<wholeOrganization classCode="ORG"
determinerCode="INSTANCE">
<!--N:jji_LOID-->
<id root="2.16.156.10011.1.26"
extension="001"/>
<name> P £} </name>
</wholeOrganization>

</asOrganizationPartOf>
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</wholeOrganization>
</asOrganizationPartOf>
</wholeOrganization>
</asOrganizationPartOf>
</wholeOrganization>
</asOrganizationPartOf>
</serviceProviderOrganization>
</healthCareFacility>
</location>
</encompassingEncounter>
</componentOf>
<component>
<structuredBody>
<l--A: A AL >
<component>
<section>
<code code="8716-3" codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"
displayName="VITAL SIGNS"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.188.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 S £ 7t H 5% " displayName="14#"/>
<I--NuE ML AL, e -->
<value xsi:type="PQ" value="60" unit="kg"/>
</observation>
</entry>
</section>
</component>
<I--PEVg & A5 -->
<component>
<section>
<I--N:!1-->
<code code="46209-3" codeSystem="2.16.840.1.113883.6.1" displayName="Provider
Orders" codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.286.00" displayName="[% g 5 | "
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"F£: {5 B ¥ ¢ H 3¢"/>
<value xsi:type="CD" code="1" displayName="-}{j][Z= g "
codeSystem="2.16.156.10011.2.3.2.58" codeSystemName="[% g 2 H{ LI %" />
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</observation>
</entry>
<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.289.00" displayName="1= g i H 257"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_ 4= 15 B ¥4k 7t H 3%"/>
<value xsi:type="CD" code="01" displayName="JH 2= lg"
codeSystem="2.16.156.10011.2.3.1.268" codeSystemName="[2=#ig 1 H 2 A LI K" />
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.288.00" displayName="[% g il H P 25"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 &4 yc H 3¢"/>
<effectiveTime>
<I--BEWE THRITT 4G H I [E-->
<low value="201210090900"/>
<!--ER Vg TR 45 o H e [ -->
<high value="201210201700"/>
</effectiveTime>
<I--BEVETHRIE -
<value xsi:type="ST">[EIE Ui H N 2 B Ak fiA</value>

<\-{E¥#. EIRITILH-->
<author>
<1--ZEWE T 572 H WA (] DE06.00.220.00-->
<time value="201210050910"/>
<assigned Author>
<id root="2.16.156.10011.1.4" extension="I%& %5 A\ 7t 4 fi%
S
<code displayName="[&"g 7.3 "/>
<|--BRWEH %4 : DE02.01.039.00-->
<assignedPerson>
<name>iK ~</name>
</assignedPerson>
<|--EUEFF LR : DE08.10.026.00-->
<representedOrganization>

<name> N £Bf</name>

</representedOrganization>
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"/>

determinerCode="INSTANCE">

l’/>

determinerCode="INSTANCE">

l’/>

</assigned Author>
</author>
<!--PRUE i %>
<participant typeCode="ATND">
<1--BEWE 4% H IR A . DE09.00.088.00-->
<time value="20121005"/>
<participantRole classCode="ASSIGNED">
<id root="2.16.156.10011.1.4" extension="[% 45 A\ A 4 fity

<!|--fff-->

<code displayName="[% g & % \"/>
<I--BEUE#H A% 4 DE02.01.039.00-->
<playingEntity classCode="PSN"

<name>*F fj</name>
</playingEntity>
</participantRole>
</participant>
1R >
<participant typeCode="ATND">
<!--ZEUE £Zx F9I R]: - DE06.00.205.00-->
<time value="20121005"/>
<participantRole classCode="ASSIGNED">
<id root="2.16.156.10011.1.4" extension="F% 55 A\ [ 4%

<!|--ffff-->

<code displayName="[%E g% %} \"/>
<I--BRUEA L% 4 DE02.01.039.00-->
<playingEntity classCode="PSN"

<name>ZF B </name>
</playingEntity>
</participantRole>
</participant>
<!--BEUE {7 1E->
<participant typeCode="ATND">
<1--PRUg {5 1k HIYIR E] . DE06.00.218.00-->
<time value="201210201700"/>
<participantRole classCode="ASSIGNED">
<id root="2.16.156.10011.1.4" extension="[% 45 A\ A 4

<|--ffh-->
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<code displayName="[% g {5 1- \."/>
<I-{F1EEEIE #2544 DE02.01.039.00-->
<playingEntity classCode="PSN"
determinerCode="INSTANCE">
<name>7F i </name>
</playingEntity>
</participantRole>
</participant>
<1--[E W HLH -->
<participant typeCode="ATND">
<1--ZEWREHCH H WA (8] DE06.00.234.00-->
<time value="201210090920"/>
<participantRole classCode="ASSIGNED">
<id root="2.16.156.10011.1.4" extension="F% 45 A\ A 4 fit
S
<l--ffi th-->
<code displayName="[% g L5 \"/>
<I--HUHEEWE & %54 DE02.01.039.00-->
<playingEntity classCode="PSN"
determinerCode="INSTANCE">
<name>7F i </name>
</playingEntity>
</participantRole>
</participant>
<l--BRIE & B>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.179.00" displayName="[2 g £+
{5 2" codeSystem="2.16.156.10011.2.2.1" codeSystemName=""F £ = B ¥4 ¢ H 1"/~
<value xsi:type="ST">[EIE % 1E (5 B</value>
</observation>
</entryRelationship>
<l--BRIBE AT NS>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.290.00" displayName="[2 g $117
IR codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"F £ {5 H ¥4 ¢ H 1"/~
<value xsi:type="ST">EEHATIRE</value>
<l--PATH-->
<performer>
<1--ERUE AT H RS E]: DE06.00.222.00-->
<time value="201210100930"/>
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<assignedEntity>
<id root="2.16.156.10011.1.4" extension="[% %%
N RG>
<code displayName="[E g 1T "/>
<I--RIEHATELE 4 DE02.01.039.00-->
<assignedPerson>
<name>ZE JU</name>
</assignedPerson>
<I--ERIEHITALE: DE08.10.026.00-->
<representedOrganization>
<name> P £}</name>
</representedOrganization>
</assignedEntity>

</performer>

</observation>
</entryRelationship>
<I--BTHIEFRE S e ams? ? 7 >
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE01.00.008.00" displayName=""FF H i
Fgi 5" codeSystem="2.16.156.10011.2.2.1" codeSystemName="_F"£: {5 B HHE ¢ H 3%"/>
<value xsi:type="ST">H,F HiF 455 P K </value>
</observation>

</entryRelationship>

<1--KbT5 2 AT a0 R F 25 R VR Y 15 4R 1 Ak 7 A

<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE08.50.056.00" displayName="4b 7724 {il
/5" codeSystem="2.16.156.10011.2.2.1" codeSystemName=""F "= B ¥4 ¢ H 1"/~
<value xsi:type="ST">4b 77 2 it 2l *5-</value>
</observation>
</entryRelationship>
</observation>
</component>
</organizer>
</entry>
</section>
</component>
</structuredBody>

</component>
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</ClinicalDocument>
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